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28jun12 Averaged data and fit for CalDeFlection/Tsys on abs polA

~ fitRms : 0.00058 FractUsed:0.91 dataSet: 0 M N
- o g~
; #M L “W ki, ﬂ WWM gl ;
# i W ™ M -
o 1200 1300 1400 1500 W60b“““‘W%bb““ -

freq[Mhz]
28jun12 Averaged data and fit for CalDeFlection/Tsys on abs polB

i
n‘M

fitAms  : 0.00059 FractUsed:0.93 dataSet: 0 N NW

A "MWM b W poinggu”

[TTTT !ﬁ\\‘\\\\‘\\\\‘\\\\

1200 1300 1400 1500 1600 1700
freq[Mhz]

28jun12 Averaged data and fit for CalDeFlection/Tsys on Sky polA
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28juni QCaI in Kelvins vs freq polA
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281un1ZCaI in Kelvins vs freq polB
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